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B 2 5 S(ug,ug), T(v, ) €ERZIF0<LSOT <7 2AKTHDEL, RZICEIF 25K P %2

P={(z,y) € R? |(z,y) = a(u1,uz) + B (v1,02), >0, 3>0}
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IDEDSD, ZIT, (z,y) BRZOHETHSEEDIC, 2RTWAZ PLEbARLRT EICT 2, —HE
=

&
(x1,91) =X (22, y2) — (2,y2) — (x1,y1) € P

LD EHETZEE, ZHEHBR < 12 R?2 ICBUBIEFPBRTH S 2 L 25RE,
(B8) 0< 4SOT <7 &k, 2RITRZ PV (ug,uz) & (vi,v9) F—KMZTH S Z LITER L, (1)

TRTD (z,y) € RZ KL T (2,y) — (x,y) = (0,0) € P TH 255, (z,y) X (z,y) 2D LD, (2)
(-T17y1) j (952792)’ (332»y2) j (5517311) kj—é- %E’ aq, /819 «2, ﬁZ Z 0 75§E§(Z/L“C,

(w2,92) — (21,y1) = a1 (u1, uz) + B1 (v1,v2), (r1,91) — (x2,92) = a2 (u1,uz) + B2 (v1,v2)
L FH,
(0,0) = {(z2,92) — (z1,91)} + {(z1,91) — (22,92)} = (1 + az) (w1, u2) + (61 + B2) (v1,v2)

2: f;% (Ul,’UQ) <‘: (’Ul,’Ug) 01—‘%3@1?[“(%575’%, o +O£2 = O, 61 +/82 = O VC%Z) (07’8 ﬂk (IC = 1, 2)
DIAMICEY, a1 =ar =01 =0=07THY, (z1,y1) = (22,y2) PILD LD, (3) (21,41) = (22, 92),
(2,92) = (x3,y3) £ET D&, 5 a1, [, az [z >0 BHNT,

(z2,92) — (z1,91) = a1 (u1,u2) + B1 (v1,v2), (73,y3) — (T2, ¥2) = o (u1,us) + B2 (v1,v2)
ERE, o+ >0, 1 +6>04&D

(3, 93) — (21, 91) ={(22,92) — (@1, 91)} + {(23,y3) — (22, 92)}
=(oq + a2) (u1,u2) + (1 + B2) (v1,v2) € P,

DFED, (ﬂil,yl) = ($3,y3) B, Dbk s, TIHBIR < 1% R? BT ZEFEIRTH S, =



